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Chhavi Saxena 22 hours ago

Home work answer is option B (0)
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Tanu Vishwakarma 20 hours ago

Homework answer.......(0)
Thank U so much sir for this session.
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Answer : 0
Nice session sir
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arun ch mandal 21 hours ago

ans is option b
good session sir
thank you sir
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Home answer is 0

nice session sir Aasada

gy &R REPLY

View reply from Mahendras : Online Videos For Govt. Exams




/1 200 % SSC 2022 | CGL | CHSL | CPO | - wuve at 06:30 PM

%

®

T@nu...& 19 hours ago

Option -b
(0) is the rgt answer
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Janardhana Gupta 22 hours ago

Home work question ka answer 0 sir
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Answer : 0
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* Y\= ' : 3 319
It (y) + (I) 1, then what is the value of (x° + y~)’
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]
(D). Given: X +—=—1

X

. 3 .
Conclusion: x" =1

Ex. 66 If a+i:—lﬁnd a+3=7

A
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If x = -1—,
X

(i) xZU[] _ xl'f-l'? 4+ xlﬁﬂ _ x15?' + x94 _ x91 1+ x?ﬁ _ x'??. 1+ x15 _ x12 1+ x3 —1 =



/1 200 % SSC 2022 | CGL | CHSL | CPO | - wuve at 06:30 PM

If x = -1—,
X

i) x*+—5=?

x27

iii) x1°+—

x16
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If x = -1—,
X

xB x4 x2 X% a0+ x4+ x4+ +1 =2
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(E). Given: x+_:\/§or X+—| =3or| X +—5|=

X X X

Conclusion: (a) =1
(b) If the difference of power of two term of x 1s 6 then

sum of both term Wlll be zero
Ex. 68x°+x'“=0, x 14—
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1
It x+—= \ﬁ tind

X
506 , 500, 206, 200, 100 , 94, 50 , 44 18 , 12

() x "+x +x +x +x +x +x +x +x +x
—|—:n:6—|—3

—

67 , 53, 43, .29, 24 18, 6
2) x +x +tx +xT+x +x +x +3
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1
(F). Given: ¥+—=—3

X

Conclusion: (a) x° =1
(b) 1f the difference of power of two term of x
1s 6 then sum of both term will be zero.

18 | 12 20 , 14
eg. x +x =0,x"+x =0
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BASIC IDENTITY

(a+b)2=a2+2ab+bz

(a—b)zzaj—Zaber:

aj—bEZ(aﬂLb)(a—b)
(a+b)3=a3+b3+3ab(a+ b)
(a—b)3=a3—b3—3ab(a—b)
03+b“%=(a+b)(aj+bj—ab)
GS—bSZ(Q—b)(a2+bz+ab)
(a+b+cY=a*+b+c*+2ab + bc + ca)
(a@a+b+cy=a+b+c+3a+b)(b+c)(c+a)
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Type -3
Think that if x + y= 0 then etther x or y should be negative
butifx™+ yz = 0 then both x & y should be zero because
neither x nor y can be negative.

So, 1f Given : X" +y +2z = 0then

Conclusion : x =y =z=10
Or
Given :(x — a): +(y— E’))2 +(z— c):: 0 then

Conclusion : x=a,y=b&z=c
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- 2 -~ 2 2'= x_ y_ —
If (x-4)*+(y-3)*+(z+S5)*=0 then -t o <

a)4 b)3- )4 d)3
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If (a—2) +(h=3) " +(c—11)Y’=0find /g + ptc =7
1 4 1) 4
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If a2+ b2+ c2+96=8(a+b —2c), then Vab — bc + ca is equal to:
'ﬂﬁ'az+b2+c2+96=8(a+b—2c),?ﬁ\/ab —bC-I—CaW% :
(a) 2V/3 (b) 4 () 6 (d) 2v/2
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If (a+b-c-3)*+(b+c-a-8)*+(c+a-b-5)*=0, then ./(a+b + ) =?
)22 b)3 c)4 d) V2

01:00
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Tvpe—4

(A).Formula: a+b*+c" —ab—bc—ca

= %[(ﬁ?b)zﬂb@zﬂca)ﬁ]
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If a=97.5, b=100, ¢=102.5, then find a®* + b* + ¢* — ab — bc — ca =?

81 70 75
a)— b) —~ ¢) == d)15

01:00
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(A). Formula: a+b +c —3abc
=(a+b+c) (a2+bz+c2—ab—bc—ca)

1 P 2 2
:E(a+b+c) [(a—b) +(b—c) +(c—a)]
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If a=299, b=298, ¢=297 then the value of 2a® + 2b> + 2¢> — 6abc =?
a)5154 b)5267 ¢)5364 d)5456
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